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I, Existence-relatedness-growth theory 2. Strategic alliances 3. Contingency model of leadership 4. Transnativnal sirategy
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|, A decision situalion is considered il the problem solver knows which evenls will occur,
a} structured b} certain ¢) compelitive d) risky

2. A manager once quipped, “Thouph [ hate it. formulating the annual business plan lorces me to think through every =inghe azpect of wiy business in ads
illustrates which benefit of planning?

a) reduces overlapping and wasteful nctivitics b) establizhed standards to facililate contral
¢} reduces uncertainly by anticipating change ) cstablishes coordinated eiTor
1. Adhocracy is more appropriate when
a) there is little envirenmental uncertainty b} technology is rouline c} employees are well-trnined professionals dyall of the
4. The main problem to be expected when the unity of command principle is ignored is
a} how an empluyee is to cope with conllicting priorities and demands b supervisars cannot keep abreast ef thai all their subordinates o
¢} decision making is slow d) all of the above
5. Calculatiens of expected utility maximizatiun and subjective probabilitics arc factors in decision aking under:
a) cerlainty. b risk. ¢} uncerainty. d) conflict.
6. Which of the following is LEAST correct?
a) There seem 1o be a positive, decreasing relationship between planning and performance, b} Planning is usually associated with higher profits,

€) The envirornment is a major maderating varinble in the planning/performance relmionship.
d} There is an inverse relationship between planning and performance,

7. The unity of command concept would probably be more appropriate

a) in large organizations b) in small organizalions <} in cemplex organizalions d} in simple organizations
8. Decisien making under means thal the decision maker does not know Lhe probabilities of various cvents.
a) risk b) unceriainty ¢} ill struclure d}) nane of Ihe above
. Which of the following is mast likely (o increase the chances of supcrior performance?
a} extensive. camprehensive plans b formal plans ¢} quality and appropriatc implementation d) none af the above
10. A major disadvaniags of the divisional struclure is
a) difTusion of responsibility b} the burden it places on headquarters slafT far daily operations
€} it restricts the development of new top managers d} duplication of some activities and persanncl
11, Concerning the span of control, classical theorists believed
a} stronger managers should have a larger span of control b} tap ranagers should have a larger span ol control
¢} lower-level managers should have a larger span of control d} newer imanagers should have a farger span of contral
|2 1T a decision maker chooses the alkernative that has the best outcome il the worst bappens, he or she is using, the: .
a} criterion of gptimism, b) Laplace criterion. c} criterion of pessimisa, d} satisficing crilerion,

13, Which of the following is true aboul the planning/performance relationship?
a) A strohg, uncertain environment is more apt Lo show improved results from planning than the opposzile.
b} Increases in planning lead (o commensurale increases in perfomance,
¢} There is no consistent relationship between planning and performance.
d) There is a dircel relationship bevween planning and financial perfonmance,

14. Which of the fllowing is MOST likely te he a fully sell-contained struciure?

a} network struclurcs bl functional structuecs ¢) divisional structures d) conglomerale structures
13. Enriched jobs that result in LOWER productivity
a) have wsially been incarrectly designed b) usually inercase quality and lower waste of resources
<) are almost nonexislent dj nonc of the above
16. leuristics are most closely associated with:
a) decision making under risk. h) decision making under conlliel, ¢} ill-structured situations. d) well-struetured situations,
17. Which ol the following is NOT a major benefit of planning?
a) good planning can climinate change b} it can result in superior Anancial results !
<) the control function of management depends on a previously formulated plan d} gives direction (o non-managers

18. Bush Industrics is a manufacturer of quality knocked-dowa (K-0) furniture for personal computers and the like.  Onw product line cansists of solid pak and has its pwn plant
manager.  The engineering stafT has 2 manager wha assigns his various engineers to cach of the produet lines, including the solid oak plant.  This structure is best described

as
a) functional b} deparimental c] product d) matrix
19. Job enrichmenl
a) expands jabs horizonally b} expands jobs verically c) decreases autonomy d) increases exiernal control
20. Plars that determine specific details aboul arganizational objectives that are 1o be achicved arc called
a) strategic plans b} operatienal plans c) long-term plans d} detailed plans
21. Management-by-objectives
a) uses a “top-down™ goal selling process b uses goals thal indicate the general direction desired
<) has a hicrarchy of ohjectives that are closely linked between urganizational levels d} was (irst proposed in the late 197)*s
22. A manager oblains compliance fram a subordinate because the subordinate wanls a differcnt shift.  The supervisor is using e poswer.
a) coercive b} punishment ) reward <) referenl
21, The mare rules and procedures in the organization, the mare o - }
2) complex it is b} discretion cach manager has ) rq.mal_w_cd it is d) successiul il will hecome -
24, When an organization faces a ralher ceriain environment, we usually find o )
a) sophisticated and complex plans designed lo maximize ellicicncy b} I'!f:mh!hl.:,' in |11arm[ng e
¢} a reliance on short-term plans as opposcd e long-tenn plans d) directional ralher than specilic plans

 Which ef the following is LEAST likely o be classified as a mechanistic struclurs? .
B al n::f\\:rl: sinaciure £ t1) divisional struclure ¢} lunclional structure d) none of the above
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